	Solo F	ree Dance			Level:	1
Competition:	Inclusive Skating World	Championships - Lon	don 2024		•	
Skater:	Aya al Rawi	Sex:	Lady		٢	TM
Age January 1st:	13	Age category:	Advanced-Novice	)		<b>-</b>
Club:		Country:	England, UK		INCLU	
Paralympic Class:	Physical	Facilitation:	Facilitated		SKAT	
Support needed:	On-ice				JIM	INU
			IJS Base	Technical	Grade of Execution	Mark awarded
Elements For Official Use Only						
Level 1						
Pose (3 to 6 seconds)			1	0.333	2.7	0.899
Step sequence (straight line, basic F 3 turns, Fx rolls etc)			1.1	0.367	0.7	0.257
Spin (1 or 2 foot, uprig		,	1	0.333	0	0.000
Total Technical Ele	ements		Total judges so	ore for elements		1.156
Total Toomingal Ele	monto		Factor	WPI	WPI incl age	
Impairment Compe	ensation (6 x WPI)		6	77.50%	77.50%	4.650
Technical Skating	Skills (Factor x Score)		1		0.7	0.700
Artistic Performance & Execution (Factor x Score)			1		1.05	1.050
Deductions						0.00
		-	Total Sco	re for Per	formance	7.56
	Programme duration (	min): 1.5	Time Adjusted 0	Championship Wo	rld Ranking Score	5.04

	Solo Free Dance					
Competition:	Inclusive Skating World Cha	mpionships - Lon	don 2024		•	
Skater:	Teddy Weston	Sex:	Lady		Ľ	ТМ
Age January 1st:	12	Age category:	Novice			$\supset$
Club:		Country:	Northern Ireland,	UK	INCLU	
Paralympic Class:	Unified	Facilitation:	Independent		SKAT	
Support needed:	Off-ice				SINAI	ING
			IJS Base	Technical	Grade of Execution	Mark awarded
Elements			For Officia	al Use Only		
Level 2						
Pose (3 to 6 seconds)			1.5	0.5	3.3	1.650
Step sequence (straight line, basic F 3 turns, Fx rolls etc)			1.5	0.5	3	1.500
One position spin (no	change of foot)		1.5	0.5	3.6	1.800
Total Technical Ele	ments		Total judges sco	ore for elements		4.950
			Factor	WPI	WPI incl age	
Impairment Compe	nsation (9 x WPI)		9	5.00%	5.00%	0.450
Technical Skating S	Skills (Factor x Score)		1.5		2.6	3.900
Artistic Performance	ce & Execution (Factor x Se	core)	1.5		2.45	3.675
Deductions						0.00
Total Score for Performance						12.98
	Programme duration (min)	: 1.5	Time Adjusted C	Championship Wo	rld Ranking Score	8.65

	Solo Fre	e Dance	)		Level:	2
Competition:	Inclusive Skating World Cha	mpionships - Lon	don 2024		•	
Skater:	Vilma Mellegard	Sex:	Lady		Ľ	ТМ
Age January 1st:	14	Age category:	Advanced-Novice	)		$\supset$
Club:		Country:	Sweden		INCLU	
Paralympic Class:	Physical	Facilitation:	Independent		SKAT	
Support needed:	Off-ice				SKAI	ING
			IJS Base	Technical	Grade of Execution	Mark awarded
Elements			For Officia	al Use Only		
Level 2						
Pose (3 to 6 seconds)			1.5	0.5	4.5	2.250
Step sequence (straight line, basic F 3 turns, Fx rolls etc)			1.5	0.5	4.3	2.150
One position spin (no	change of foot)		1.5	0.5	7.7	3.850
Total Technical Ele	ments		Total judges sco	ore for elements		8.250
			Factor	WPI	WPI incl age	
Impairment Compe	nsation (9 x WPI)		9	40.00%	40.00%	3.600
Technical Skating S	Skills (Factor x Score)		1.5		4.5	6.750
Artistic Performand	e & Execution (Factor x Se	core)	1.5		4	6.000
Deductions						0.00
		•	Total Sco	re for Per	formance	24.60
	Programme duration (min)	: 1.5	Time Adjusted C	Championship Wo	rld Ranking Score	16.40

	Solo Fre	e Dance	)		Level:	2
Competition:	Inclusive Skating World Char	mpionships - Lon	don 2024		•	
Skater:	Jennifer Lee	Sex:	Lady			TM
Age January 1st:	26	Age category:	Senior			
Club:		Country:	England, UK		INCLL	ISIVE
Paralympic Class:	Intellectual	Facilitation:	Independent		SKAT	ING
Support needed:	Off-ice				JIM	ino
			IJS Base	Technical	Grade of Execution	Mark awarded
Elements			For Officia	al Use Only		
Level 2						
Pose (3 to 6 seconds)			1.5	0.5	4.2	2.100
Step sequence (straigh	nt line, basic F 3 turns, Fx rolls	etc)	1.5	0.5	3.8	1.900
One position spin (no	change of foot)		1.5	0.5	5.4	2.700
Total Technical Ele	ments		Total judges score for elements			6.700
			Factor	WPI	WPI incl age	
Impairment Compe	nsation (9 x WPI)		9	35.00%	35.00%	3.150
Technical Skating S	Skills (Factor x Score)		1.5		2.8	4.200
	ce & Execution (Factor x So	core)	1.5		4	6.000
Deductions						0.00
Total Score for Performance						
	Programme duration (min)	: 1.5	Time Adjusted C	Championship Wo	rld Ranking Score	13.37

	Solo Fre	e Dance	)		Level:	2
Competition:	Inclusive Skating World Char	mpionships - Lon	don 2024		•	
Skater:	Callum Mills	Sex:	Gentleman			TM
Age January 1st:	25	Age category:	Senior			
Club:		Country:	England, UK		INCLL	ISIVE
Paralympic Class:	Intellectual	Facilitation:	Independent		SKAT	ING
Support needed:	Off-ice				JIMI	ING
			IJS Base	Technical	Grade of Execution	Mark awarded
Elements				For Officia	l Use Only	
Level 2						
Pose (3 to 6 seconds)			1.5	0.5	3.05	1.525
Step sequence (straigh	t line, basic F 3 turns, Fx rolls	etc)	1.5	0.5	3.1	1.550
One position spin (no c	hange of foot)		1.5	0.5	1.5	0.750
Total Technical Ele	ments		Total judges score for elements			3.825
			Factor	WPI	WPI incl age	
Impairment Compe	nsation (9 x WPI)		9	53.00%	53.00%	4.770
Technical Skating S	skills (Factor x Score)		1.5		1.6	2.400
	e & Execution (Factor x So	core)	1.5		1.7	2.550
Deductions						0.00
Total Score for Performance						
	Programme duration (min):	: 1.5	Time Adjusted C	hampionship Wor	ld Ranking Score	9.03

	Solo Free Dance Level:						
Competition:	Inclusive Skating World Cha	mpionships - Lon	don 2024		•		
Skater:	Oliver Snook	Sex:	Gentleman				
Age January 1st:	19	Age category:	Senior			$\supset$	
Club:		Country:	England, UK		INCLU		
Paralympic Class:	Intellectual	Facilitation:	Independent		SKAT		
Support needed:	Off-ice				SIVAL	ING	
			IJS Base	Technical	Grade of Execution	Mark awarded	
Elements			For Officia	al Use Only			
Level 2							
Pose (3 to 6 seconds)			1.5	0.5	6.8	3.400	
Step sequence (straight line, basic F 3 turns, Fx rolls etc)			1.5	0.5	3.5	1.750	
One position spin (no	change of foot)		1.5	0.5	2	1.000	
Total Technical Ele	ments		Total judges so	ore for elements		6.150	
			Factor	WPI	WPI incl age		
Impairment Compe	nsation (9 x WPI)		9	20.00%	20.00%	1.800	
Technical Skating S	Skills (Factor x Score)		1.5		2.55	3.825	
Artistic Performance	e & Execution (Factor x S	core)	1.5		1.65	2.475	
Deductions						0.00	
Total Score for Performance							
	Programme duration (min)	: 1.5	Time Adjusted C	Championship Wo	rld Ranking Score	9.50	

	Solo Fr	ee Dance			Level:	3
Competition:	Inclusive Skating World Char	mpionships - Londo	on 2024		•	
Skater:	Meg McFarlane	Sex:	Lady		١	ТМ
Age January 1st:	21	Age category:	Senior			
Club:		Country:	England, UK		INCLU	
Paralympic Class:	Intellectual	Facilitation:	Independent		SKAT	
Support needed:	Off-ice				JIM	iito
			IJS Base	Technical	Grade of Execution	Mark awarded
Elements	Elements For Official Use Only					
Level 3						
Twizzles, 1 Foot or 2 feet, c+cc, 1+ rotation, max 3 linking steps			3.1	1.033	0	0.000
Pose (3 to 6 seconds)			2	0.667	4	2.668
Step sequence (straigh	nt line, full ice surface, basic F	+ B 3 turns etc)	2.6	0.867	1.4	1.214
One position Dance Sp	oin (no change of foot)		2.6	0.867	2.7	2.341
Total Technical Ele	ments		Total judges sco	ore for elements		6.223
			Factor	WPI	WPI incl age	
Impairment Compe	nsation (9 x WPI)		9	54.00%	54.00%	4.860
Technical Skating S	Skills (Factor x Score)		1.5		2	3.000
Artistic Performance	ce & Execution (Factor x So	core)	1.5		2.5	3.750
Deductions	Deductions					
Total Score for Performance						17.83
	Programme duration (min)	: 2	Time Adjusted C	Championship Wo	rld Ranking Score	8.92

	Solo Fro	ee Dance			Level:	3
Competition:	Inclusive Skating World Char	mpionships - Londo	on 2024		•	
Skater:	Stephanie Gott	Sex:	Lady		Ľ	ТМ
Age January 1st:	26	Age category:	Senior			
Club:		Country:	England, UK		INCL	ISIVE
Paralympic Class:	Intellectual	Facilitation:	Independent		SKAT	ING
Support needed:	Off-ice				JIM	ING
			IJS Base	Technical	Grade of Execution	Mark awarded
Elements			For Officia	al Use Only		
Level 3						
Twizzles, 1 Foot or 2 feet, c+cc, 1+ rotation, max 3 linking steps			3.1	1.033	2.6	2.686
Pose (3 to 6 seconds)			2	0.667	5.7	3.802
Step sequence (straight line, full ice surface, basic F + B 3 turns etc)			2.6	0.867	3.6	3.121
One position Dance Sp	in (no change of foot)		2.6	0.867	5.5	4.769
Total Technical Elei	nents		Total judges sc	ore for elements		14.378
			Factor	WPI	WPI incl age	
Impairment Compe	nsation (20 x WPI)		20	35.00%	35.00%	7.000
Technical Skating S	kills (Factor x Score)		1.5		3.5	5.250
Artistic Performanc	e & Execution (Factor x So	core)	1.5		2.9	4.350
Deductions						0.00
Total Score for Performance						30.98
	Programme duration (min):	: 2	Time Adjusted (	Championship Wo	rld Ranking Score	15.49

	Solo Fr	ee Dance			Level:	4
Competition:	Inclusive Skating World Cha	mpionships - Londo	n 2024		•	
Skater:	Emily Poulton Smyth	Sex:	Lady			TM
Age January 1st:	19	Age category:	Senior			$\supset$
Club:		Country:	England, UK		INCL	ISIVE
Paralympic Class:	Unified	Facilitation:	Independent		SKAT	ING
Support needed:	Off-ice				JIM	III
			IJS Base	Technical	Grade of Execution	Mark awarded
Elements				For Officia	al Use Only	
Level 4						
Twizzles, 1 rotation on 1 foot + more on 2 feet on any edge, c						
+ cc, max 3 linking steps			4.6	1.533		3.986
Pose (3 to 6 seconds)			3	1	4.7	4.700
Step sequence (straight line, full ice surface, double 3 turns, twizzles + more adv. Turns)			4.1	1.367	4	5.468
One position Dance Sp	oin (no change of foot)		3.6	1.2	5	6.000
Total Technical Ele	ments		Total judges sco	ore for elements		20.154
			Factor	WPI	WPI incl age	
Impairment Compe	nsation (30 x WPI)		30	5.00%	5.00%	1.500
Technical Skating S	Skills (Factor x Score)		2.5		3.4	8.500
Artistic Performance	Artistic Performance & Execution (Factor x Score)				4	10.000
Deductions					0.00	
Total Score for Performance						40.15
	Programme duration (min)	): 2	Time Adjusted C	Championship Wo	rld Ranking Score	20.08

	Solo Fi	ree Dance			Level:	5
Competition:	Inclusive Skating World Ch	ampionships - Londo	n 2024		•	
Skater:	Cara Leigh Sisson	Sex:	Lady		Ľ	ТМ
Age January 1st:	31	Age category:	Senior			$\supset$
Club:		Country:	England, UK		INCLI	ISIVE
Paralympic Class:	Unified	Facilitation:	Independent		SKAT	ING
Support needed:	Off-ice				SILA	IIII
			IJS Base	Technical	Grade of Execution	Mark awarded
Elements	Elements			For Officia	al Use Only	
Level 5						
Twizzles, 2 rotations of features permitted	n any edge, c + cc, max 3 lin	king steps, additional	5.6	1.867	5.5	10.269
Pose 1 (3 to 6 seconds)			3	1	6.5	6.500
Pose 2 (3 to 6 seconds)			3	1	6.3	6.300
Step sequence (straigh adv. Turn)	nt line, full ice surface, bracke	ets twizzles more	5.6	1.867	5.6	10.455
One Dance Spin (1 Ch foot permitted)	ange of position and one cha	ange of	4.6	1.533	5.1	7.818
Total Technical Ele	ments		Total judges sc	ore for elements		41.342
			Factor	WPI	WPI incl age	
Impairment Compe			40		5.00%	2.000
	Skills (Factor x Score)		2.5		5.2	13.000
	e & Execution (Factor x S	Score)	2.5		6.4	16.000 0.00
Deductions						
Total Score for Performance						72.34
	Programme duration (mir	n): 2.25	Time Adjusted C	Championship Wo	rld Ranking Score	32.15

	Solo Fr	ee Dance			Level:	5
Competition:	Inclusive Skating World Cha	ımpionships - Londo	n 2024		•	
Skater:	Alex Brocken	Sex:	Lady		L	TM
Age January 1st:	41	Age category:	Master			
Club:		Country:	England, UK		INCL	ISIVE
Paralympic Class:	Unified	Facilitation:	Independent		SKAT	ING
Support needed:	Off-ice				JIM	IIIO
			IJS Base	Technical	Grade of Execution	Mark awarded
Elements				For Officia	al Use Only	
Level 5						
Twizzles, 2 rotations on any edge, c + cc, max 3 linking steps, additional features permitted			5.6	1.867	6.5	12.136
Pose 1 (3 to 6 seconds)			3	1	8.5	8.500
Pose 2 (3 to 6 seconds)			3	1	4.6	4.600
Step sequence (straighadv. Turn)	nt line, full ice surface, bracke	ts twizzles more	5.6	1.867	5	9.335
One Dance Spin (1 Ch foot permitted)	ange of position and one cha	nge of	4.6	1.533	4.9	7.512
Total Technical Ele	ments		Total judges sco	ore for elements		42.083
			Factor	WPI	WPI incl age	
Impairment Compe	nsation (40 x WPI)		40		1.00%	0.400
	Skills (Factor x Score)		2.5		4.4	11.000
Artistic Performance & Execution (Factor x Score)		2.5		3	7.500 0.00	
Deductions						
Total Score for Performance						60.98
	Programme duration (min	): 2.25	Time Adjusted C	Championship Wo	rld Ranking Score	27.10

Solo Free Dance Level:								
	2010 F	ree Dance			Level:	6		
Competition:	Inclusive Skating World Ch	ampionships - Londo	on 2024		•			
Skater:	Caitlyn Baxby	Sex:	Lady			ТМ		
Age January 1st:	15	Age category:	Junior		١	$\supset$		
Club:		Country:	England, UK		INCL	ISIVE		
Paralympic Class:	Unified	Facilitation:	Independent		SKAT	ING		
Support needed:	Off-ice				0.0			
			IJS Base	Technical	Grade of Execution	Mark awarded		
Elements			For Officia	al Use Only				
Level 6								
Twizzles, 3 or more rotations on any edge, c + cc on any								
edges, max 3 linking steps, additional features permitted			6.6	2.2	6.3	13.860		
Combination Pose 12 secs with max 1 linking step (each pose min 3 seconds)			4	1.333	7.1	9.464		
Choreographic dance e	element		5.1	1.7	7.4	12.580		
Step sequence (straigh rockers, twizzles etc)	t line or curved, full ice surfa	ace, counters,	7.1	2.367	6.25	14.794		
One Dance Spin (all pe	ermitted)		5.6	1.867	7.6	14.189		
	,					,		
Total Technical Eler	ments		Total judges sc	ore for elements		64.887		
			Factor	WPI	WPI incl age			
Impairment Comper	nsation (50 x WPI)		50	5.00%	5.00%	2.500		
Technical Skating S	kills (Factor x Score)		2.5		5.8	14.500		
Artistic Performance & Execution (Factor x Score)			2.5		6	15.000		
Deductions								
Total Score for Performance						96.89		
	Programme duration (mi	n): 2.5	Time Adjusted (	Championship Wo	rld Ranking Score	38.75		

	Solo F	ree Dance			Level:	6		
Competition:	Inclusive Skating World C	hampionships - Londo						
Skater:	Jessica Jepps	Sex:	Lady			ТМ		
Age January 1st:	23	Age category:	Senior					
Club:		Country:	England, UK		INCLUSIVE			
Paralympic Class:	Physical	Facilitation:	Independent					
Support needed:	Off-ice			JIM	ING			
			IJS Base	Technical	Grade of Execution	Mark awarded		
Elements								
Level 6								
Twizzles, 3 or more rotations on any edge, c + cc on any								
edges, max 3 linking steps, additional features permitted			6.6	2.2	2.7	5.940		
Combination Pose 12 secs with max 1 linking step (each pose min 3				1.333	2.2	2.933		
seconds)			4					
Choreographic dance element			5.1	1.7	4	6.800		
Step sequence (straight line or curved, full ice surface, counters, rockers, twizzles etc)			7.1	2.367	2.4	5.681		
One Dance Spin (all permitted)		5.6	1.867	4.95	9.242			
Tatal Tankai and Fla			20 500					
Total Technical Elements			Total judges score for elements		Ž-	30.596		
			Factor	WPI	WPI incl age			
Impairment Compensation (50 x WPI)			50	19.00%	19.00%	9.500		
Technical Skating Skills (Factor x Score)			2.5		2.3	5.750		
Artistic Performance & Execution (Factor x Score)			2.5		1.6	4.000		
Deductions						0.00		
Total Score for Performance								
Programme duration (min): 2.5 Time Adjusted Championship World Ranking Score						19.94		

				, .	eu. upuatu 17.1.2023	
Solo Free Dance						
Inclusive Skating World Championships - London 2024						
Juliana Sweeney Baird	Sex:	Lady			TM	
20	Age category:	Senior				
	Country:	Scotland, UK				
Visual	Facilitation:	Independent		SKATING		
Off-ice			JKA!			
		IJS Base	Technical	Grade of Execution	Mark awarded	
Elements			For Official Use Only			
Twizzles, 3 or more rotations on any edge, c + cc on any						
edges, max 3 linking steps, additional features permitted			5 2.2	7	15.400	
Combination Pose 12 secs with max 1 linking step (each pose min 3 seconds)			1.333	8	10.664	
Choreographic dance element			1 1.7	8	13.600	
Step sequence (straight line or curved, full ice surface, counters,						
rockers, twizzles etc)				ļ	18.226	
One Dance Spin (all permitted)		5.0	1.867	6.9	12.882	
Total Technical Elements			, , ,		70.772	
		Factor	WPI	WPI incl age		
Impairment Compensation (50 x WPI)				63.00%	31.500	
Technical Skating Skills (Factor x Score)			5	7.2	18.000	
Artistic Performance & Execution (Factor x Score)  Deductions			5	8.5	21.250	
					0.00	
Total Score for Performance						
Programme duration (min): 2.5 Time Adjusted Championship World Ranking Score						
	Inclusive Skating World Char Juliana Sweeney Baird  20  Visual Off-ice  ations on any edge, c + cc on eps, additional features perm ecs with max 1 linking step ( element t line or curved, full ice surface rmitted)  ments  nsation (50 x WPI) kills (Factor x Score) e & Execution (Factor x S	Inclusive Skating World Championships - Lond Juliana Sweeney Baird  Sex:  20 Age category: Country: Visual Off-ice  ations on any edge, c + cc on any eps, additional features permitted ecs with max 1 linking step (each pose min 3 element t line or curved, full ice surface, counters, rmitted)  ments  nsation (50 x WPI) kills (Factor x Score) e & Execution (Factor x Score)	Inclusive Skating World Championships - London 2024   Juliana Sweeney Baird   Sex:   Lady     20	Inclusive Skating World Championships - London 2024   Juliana Sweeney Baird   Sex:	Inclusive Skating World Championships - London 2024   Juliana Sweeney Baird	